Type Il Method

Give answer:

(@ if only conclusion (1) follows.

(b) il only conclusion (II) fellows.

(c) if cather (I) or (1) follews.

(d) if neither (1) nor (II) tollows.

(e) if both (I) and (11} follow

Answer with Explanation-(b): Conclusion (II)
follows the staternent because in the statement it
is given that if you arc a good artist, then we have
definitely & job for you. From this it is clear that
ve arce in need of @ good Artist.

Examples

Directions {Q. 1-3): In each question below is
given a statement followed by two conclusions
numbered (1) and (I1) You hate to assume everything
in the statement to be true and consider both the
conclusions together, then decide which of the two

given conclusions logically follows beyond a-

reasonable doubt from the information given in the
statement Give answer

()
(b)
(c}
(d)
{e)
Statemeont:

if only conclusion (I) follows.

if only conclusion {II) follows.

if either (1) or (il} tollows.

if neither (I) nor {iI} follows.

if both (1) and (0) fellove.

About 50 per cent of animal
by-products hair, skin, born
elc. is edible protein. Indian
chemists have developed a
method of isolating 45
percent ol this protein, They
used an enzyme developed in
Jupan to break down Sova
protein,

(1) Indians have not been able
to develop enzymes.

() If an economicually feasible
process is developed, there
would be plenty of edible
protein available,

1.

Canclusions:

2. Statement:
wherever thera is develop
roent, there is a little that
can be done 10 arrest it
except al the cost of
development itself,

Since inequality is built in |

Conclusions: () Te achieve development,
inequality should be allowed
to continue.

(I1) Ecquality and development da
not go together.

Recent researches have shown
that panples have their root
cause within the liver,
Conclusions; (1) The medication for pimples
should be administered to
the liver.
(I Creams regquiring external
application are of no use.
Directions (Q. 4 & 5): In each quesrtions,
consider the given statement and the conclusions
and decide which of the conclusions definitely
follow lrom the stalement,

4, Statement: Large hearted people liberally
donale monay. Duryedhanan
donated large sums of
money. It was Duryodhan's
ingistence not to give even
a single inch of land to the
Pandavas which led to the
happenings of Mahabharata,

(1) Duryodhanan was a large
hearted man,

(10 Had Duryodhanan been large
hearted perbaps Mahabharata
could be avoided.

(a) Conclusion {I) fellows
(b) Conclusion {Il) follows
(¢) Either (1) or {I[) follows
(d) Neither conclusicn (1) ner (1I) follows
(e) Both the conclusion (1) and (I1) follow
5. Statement: Quality has a price tag. India
is allocating lots of funds to
education.
Conclusions: (I} Quality of education in India
' would iroprove soon.
(I} Funding alone can enhance
quality of education,
(a) Conclusion (I) follows
{b) Conclusion {II) follows
{c) Either (1) or {II) follows
{d) Neither conclusion (I) nor (1) follows
{e) Both the conclusicn (I) and (II) follow

3. Statement.

Conclusions:
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Directions (Q. 6-10): In each guestion below is
given a suatement foliowed by two conclusions
numbered (I) and (II}). You have to cverything in
the statement o be true and consider both the
conclusions together, then decide which of the two
given conclusion logically follows beyond
reasonable doubt from the information given in
rhe statement. Give answer

(a) if only conclusions (1) follows.
(b) if only canclosion (11) follows.
(c) f éither (1) or (1D followvs.

(d) if neither (L) nor (1) tollows.
(e) if both (1) and {II) follow.

6. Statement: The aceans are a store house
of practically every mineral,
including vranium. But like
most other mioerals it s
found in extremely low
concentrations abaut 3 grams
for 1,000 tons of water.

Conclusions: (I} Sea water contains gold.

(II) The cceans harbour radiation
hazards. 3
From all available cultural
records, it 15 avident that
even n gncient India, both
the masters and disciples
valued net the quantity but
the quality of knowledge.

(I} Giving importance (o
quantity of knowledge is
meaningless,

(1) There was an identity of

educational valuaes between
teachers aud students in
ancient India.
About 50 per cent of animal
by praducts hair, skin, horns
etc. is edible protein.
American chemists have
developed a method of
isolating 45 per cent of this
pretein. They used an enzyme
developed in Japan to break
down Soya protein.

{I) Americans have not been able
io develop enzymes

7. Statement:

Conclusions:

Conclusions:

(N Animal by-products proteins

has the same composition as
Soya protein.
Domestic demand has been
increasing faster than the
preduction of indigenous
crude oil.

(I} Crude 01t must be imported.

({I) Domestic demand should be
reduced.

He stressed the need to stop
the present examination
system and its replacement
by other methods which
would measure the real
ment of the swudents,

Conclugions: (1) Examinations should be

abolished.

(I) The present examination
system does not measure the,
real merit of the student.,

Directions (Q. 11-15): In cach of the following
questions, a statement is followed by two
conclusions (I) and (I}, You have to assume
everything in the satement to be true and consider
both the conclusions wgether, then decide which
of the two given conclusions logically followed
beyond a reasonable doubt from the information
given in the statement. Give answer:

ta) if only conclusions (1) follows:,
(b) f only conclusion (II) faliows.
() if either {1} or (1} follows.

(d) if neither (I} nor (11) follows.
(¢) if both {I) and {IL) follow,

11. Statement: After this amendment to the
Constitution, no child below
the age of 14 vears will be
employed te work in any
factory or minc or engaged
in any other hazardous
employment.

Conclusions: (T) Before this amendment,
children below 14 years were
‘employed te work in a

factory or a'mine.

(11} The emplovers now abide by
this amendment Lo the
Constitution,

9. Statement:

Ceaclusions:

10. Statement:
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The dissimilaritics batween
the problems of rura} and
urban development stand
out clearly when wea compare

12. Statement:

the attitude of the
government towards these
two fieidy, -

Conclusions: (I} Gevernment has more
favourable attitude towards
rural develepment than
urban development.

() Government has more
favourable attitude towards
urban development than rural
development
A neuroticism is a non-
stupid person who behaves
stupidly.

{I) Neuratic and stupidity go
hand in hand.

(I) Normal persons behave
inwlligently.

Castes on social side are a

product of human

erganisations and not a

mystery of divine

appointment.

Conclusions: {I) Cestes are man-made.

(Il) Divioity has created many
mysteries in the world.
Constitutional merality is
not a natural sentiment.

Conclusions: (1) Sentimencs are innate.
(I) Constitutional morality 15 to
be cultivated.

Directions {(Q. 16-20): In each guestion below
15 given a statement followed by two conclusions
numbered (I) and (IT). You have to assumec
everything in the statement to ba true and consider
both the conclusions together, then decide which
of the twe given conclusions logically follows
beyond a reasonable doubt from the information
given in the statament,

Give answer (a) if only conclusion (I) follows;
give answer (b) if only conclusions (II) follows: give
answer {c) if either (1) or (I} follows: give answer
(d) if neither (I} nor (I} follows, and give answer
{e) if both {I) and (I1) follow.

13. Statement:

- Conclusions:

14. Statement:

1S. Stavement:

In an eccountar, (en caldiorns
were killed ond one was
injured seriously.

{D) The attack was unexpected.

(1D The enerny out numbered the
soldiers.

Their house is on the
highway with a heavy traffic
arnd they are facing a problem
of noise pollution.

{I) People should build their
houses away from highway.

(Il Traffic creates problems of
envirenment poilution.

No new taxes are proposed
in the revised budget.

(I) The ceuntry has a balanced
economy.

{(Il) The country has a surplus.
Alchough he reported that
his home way burgled at
night, police did not take
necessary steps imeeediately
Lo mvestigate the crime

(T) Police are lazy.
{II) Police: are cautious.
In the exodus after the fire
broke out, a child was found
missing and the mother
funatically searching for him,

{I) The child is dead.

(1) The ¢hild iy alive,
Directions (Q. 21-25): In each question there s

one statement foliowed by two conclusions {I) and

{H). You have to take the vae given sratement o

be true even if it seerms to be at variance from

commonly known facts and then decide which of
the given conclusion logically follows from the one
given statement, disrégarding commonly known

facts. If only conclusion (I) follows, then mark (a);

ifonly (II) follows, then mark (b); if both {I) and (1)

follow, then mark (c); if either (I} or () follows,

then mark (d) and if neither (I) nor (IT) follows,

then mark (e).

21. Statement:

16. Statemaont;
Conclusions:

17. Statement:

Canclusions!

18 Statement:;

Conclusions:

19. Statement:

Conclusions:

Conclusions;

It doas not martter what type
of food you war, What
malters is whether you can
digest it
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{1} Any type of food is equally
good as long as it can be
digesied,

(1T} The type of food one eats is
immaterial,

Neo questioned the utility of
the present procedure and
suggestad its replacement by
another one desgued for

" Conclusions:

22. Statement.

speedy disposal
Conclusions; (1) Procedure  should be
abolished
{1} Procedure should be made
for speedy disposul.

Now you do not necd an
import licence to own an
electronic typewriter.

23. Statcment:

Conclusions:
now made indigenously.

{[I} Elecuanic Lypewriters are

now frecly permitted for

import.
24. Statement: 1t does not mauer what a
tonig contains. What

matters is what your body
gets out of it

Conclusions: ([} Any tonic is equally good if
the body can absord it.
I} Composition of a tonic is of
no consequence,
25. Statement: If blue is heavy then yellow

is light. If red is light then
green is medium, But blue
is heavy or red 1s light.
(I) Yellow and red are light,
(i) Green s medium.
Directions (Q. 26-30): Given below are some
statements followed by two conclusions (I) and (T7).
Il you decide that conclusion {I) is implicit then
mark (a): if conclusion (II) is implicit then mark
(b): if both (1) and (T1) are implicit then mark (c); il
either (I) or (II) is tmplicit then mark (d) and if
ncither (I) xior {II) is implicic then mark (e).
26. Statemant: The hest way to escape from
a problem is to solve it
Conclusions: (1) You life will ba dull if you
’ don't face a problem,
(1I) To excape from problers you
should always have some

Conclusions:

(1) Blecironic typewriters arc

in a highly centralised power
structure, i which even
senior cabinet ministers aro
prepared to induce them
sclves to pathetic countries
or Yesmen airing views thar
are primarily mtended 1o
anticipate or reflect the
Prime Minister's own
performances, there can be
no place for any consensus
that is quite different from
real or contrived unanimity
of opinien. expressced
thraugh awe archestrated
endorsement of the leader’s
actions.

() The ministers play safe by not
giving anti government
views.

(I) Tha Prime Ministur does not
encourage his colleagues to
render their own views,
Compurter advertisements
now fill magazine pages, but
the real computer revelution
in India 1s taking place
quictly, and in an unlikely
organization of the govt.

Conclusions: (1) Both the Central and State
Geve. are computerising
rapidly.

{D The govt. does not il the
magezine pages with their

;7. Statement:

Conclusions:

28. Statement:

computer advvertisements.
289. Statement: Gowm! is the enemy of the
best.
Conclusions: (I) You should be good Lo your
best enemy.
{l) The best do not like the
good.

30. Statemeont: The essence of one day
cricket is the ability Lo score
runs fast and to bowi with a
mixture of control and
aggression which adroitly
handled can e the

oppunents hand and foot.

selunions with you.
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Conclusions:

L4

(D Kapil Dev when he won the
Prudential Cup tor india in
1983 had all the above

qualities.
(Il The other teams which
participated in the

Prudential tournament did

not have those abilities.
Directions (Q.31-35): In cach of the questions,
a statamant is followed by two conclusions (I) and
{il). You have to assume everything in the statement
o he true and consider both the conclusions

together, and then decide which of the twe.

conclusions legically follow the statement. Give
answer: (a) if only conclusion (1) follows; (b) if only
cenclusion (15) follows; (¢) if either (1) or {11) follows;
{d) if naithar {I) nor (II) follows and (e} if bath (1)
and (I1) follow. .

Detmocracy is but election by

21. Statemcnt:
the incompetent many for
appoihtment of the corrupt

. few.
Conglusions: ([) Democracy aggravates

corruption.

: @0 Elections lead o
appointment.

~ 32. Statement: It must be recognised that

the analysis of scciety by a

social scientist cannot be

expectad to be whelly free
from blases derived from

; social milieu,

Conclusions: (I) Sociai secientists
abjectivity.

(IT} Social milieu creates various
types of biases in the minds
of the people living in that
society. *
Thewhere aboul of my uncle
are not known since he left
this place iast week by that
ill-fated train which mert
with an accident near
Nagpur. )

Canclusions: (I} My uncle iy killed in ‘the

accident.
{Ii} My uncle is alive and safe
somewhere,

luck

33. Statement:

Constitutional morality is

not a natural sentiment,

Conclusions: (I) Constitutional merality is to
be cultivated.

(ID Sentiments are innate.

39. Stareroent:

35. Statement: Strikes are inherent right ot
the working men for the-
purpese of securing justce.

Conclusions: {I) Weorkers cannot get justice

unless they go on striko.
(II) Every working man must
defend his inherent right,
Directions (Q. 36-40): In each question below
is given a statement followed by two conclusions
numbered (I} and (II). You have o assume
everything in the statement to be true; then decide
which of the rwa given conclusions logically
follews beyond a reasonable deubt trem tha
information given in the stotement. Give answer
(@ if only conclusion (1) follows.,
() if only conclusion (IT) foilows.
(¢) ifeither (1) or (1)} follows.
(d) if neicher (1) ner (11} follows.
(@) il both {I) and (IT) follow,

36. Starement: It dees not malter what
activity you engage in: what
matters is how much you are
interested in it. ‘

(I) Any activity is equallv good
as long as iv is interesting.

(I[) The type of the activity one
engages in, is inmaterial.
The oceans ave a storehouse
of practically every mineral
including uranium. But like
most other minerals it is
found in low concentrations
about 3 groups for 1,000
nnes of water,

{l The oceans are a cheap
source of uranium.

(II) The oceans harbour
radiations hazards.

In a certain community, only

widows do not appty

Kumkum to their foreheads

Ratna, who balongs to that

community applies Xumkum
. to her forehead.

Conclusions:

37.

Conclusions:

38.
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(D) Ratna is an unmarried girl.
(I Ratna is a married woman,
He questioned the utility of
the present research projects
and suggested their
replaccment by others in
areas of felt national needs.
Conclusions: (I)'Research should be stopped,
(I1) Research should be oriented
to national needs.
The greatest need in India
todav is not for rare
specialists but well tramned
genersl physicians.
Conclusions. (1) Basic medical education
needs t¢ be increased
urgently.

(IN) Specialised medical
education does not take care
of general public health of
common masses in India.

Directions (Q. 41-45): [n each of these questions
one staterent is followed by twe conclusions (1)
and (I). If anly conclusion (1} ig implicit from the
given statement, then mark (a); if only conclusion
(I) is implicit, then mark {b); if both {I}-and (I1) are
implicit, then mark (¢); if either (I} or (II) is implicit,
then mark (d) and if neither (1) nor ([I) is implicit,
then mark ().
41. Statement:

Conclusions:

39. Statement.

40. Statement: -

It 1s faster to travel by air
from Delhi to Mumbai.

(D Delhi and Mumbai are
connected by air services.

(II) There is no other means of
communication between
Delhiand Mumbai.
According to the 82nd
amendment bill passed by
the parliament, the president
has to accept the advise of
the council of ministers.

Conclusions : (I) Befure the introduction of
the bill, the president was
not used Lo take the advise
of council of ministors.

{ID Before the introduction of
the bill, the president never
sought the advise of the
council of ministers.

Conclusions:

42. Statement;

Books withcut knowledge of

43. Statement:
life useless.
Conclusions: (1} &l books contain knowledge
of life,
(11) People should try to goin the
knowledge of life.
44, Statement: Judgements are not
scvording Lo appearances.
Conclusions: (I) Appearance may be
deceptive,
(1) Everyone makes a judgerment.
45. Statemeat: The present education
system needs thorcugh
overhauling,
Conchusions: (I) Overhauling results in -
improvement,

() The present education
system is out-dated.
Diractions (Q. 46-50): In each of the questions,

u statement is followed two conclusions, Answer

(a) if the (1) conclusion follows and (b) if (II) follews;

(c) if both the conclusions follow; (4) if either (1) or

(I follows and (e} if neither (I} nor (II) follows.

46. Statement: In deserts camels are

indispensable for people to
travel from one place to
another.

Conclusions: (I} Camels are the only cheapest
mode of transport available
in deseris.

(I} There are plenty of camels in
deserts.

These apples are
expensive to be bad.

Conclusions: {[) When a;}ples are in short
supply, the prices to up.

(I The higher the salling price,

the superior is the gquality of
the commodily.
OF all the television sets
manufactured in India, the
'solar’ brand has the Jargest
sale. ‘

Conclusions; (1) Volume of sales of all the

brands of television sets
manufactured in India, is
known.

({I1) The production of no other
television set in India is as
large as thet of ‘Solar’.

47. Statoment: too
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‘len persons who ware on the
waiting lst could finally get
berth reservatien on the
Frontier Mail,

(I) Wait-listed passengers
gencrally find it difficult 1o
get berth reservation on the
Frantier Mail.

(M The number of berths
available on the Frontier Mail
is simall,

Apart from the educational

valug of newspapers. their

entertainment value should
also be realised

(1) People take newspapers to be
a means of education.

(I) The enctertainment value of
newspapers is realised
properiv.

Directions {Q. 51-55): In each of the following
questions statement is given followed by two
conclusions (1) and {I1}. Mark yvour answer (a) both
the conclusions ¢can be drawn from the statement,
(b) if only (I} can be drawn, (c) if only (II) can he
drawn, {d) if neithar {I) nor (II) can be drawn and
{¢} if either (1) or (1I) can be drawn.

51. Statement: [ know nothing except the

fact of my ignarance.
Conclusions: (1) The writer's knowledge is

Very poor.

{1} The world of knowledge is
too vast to be explored by 2
singlé purson.

Reading makes a full man;

conference a ready man; and

WrILIng an exact man.
Conclusions: (I) Fointed and  precise

expression comes only

through extensive writing.

(1) Extensiva reading makes a
complets mun,

The old-order change the

vielding place to new.

Conclusions: () Chiange is the law of nawure,

(ID Discard old ideas because
they are old,

Fashion [s a form of ugliness

so intolerable that we have

te alter it every six months.

49, Statement:

Conclusions:

50. Statemeqat:

Conclusions:

52. Statement:

53. Statement:

54, Statement:

Conclusions: (I) Fashion designers do not
undemstand the public mind
very well,

{lI) The public by and large is
highly susceptible to
navelty.

The devil can cite scripture
for his purpose.

{I) Even an unscrupulous
person has some principles.

(I} The real wisdom is to be
found in scriptures.
Directions {Q. 56-60): In cach question below

is given a statement followed by two conclusions

numbered {I) and (I11}. You have to assumna
everything in the statament to be true and consider
both the eonclusions together, Lhan decide which
of the two given conclusions logically follows
beyond a reasonable doubt from the information
given in the statement. Give answer (a) if only
conclusion (1) follows; give answar (b) if only

conclusion (II) foliows; give answer (¢) if either (I)

or (II) follows; give snswer (d) ifneither (1) ner (I1)

follows and give answer (e) if boih (I) and (I1} follow.

56. Statement: Books are Like friends who
bring rich and lasting
rewards.

{[) You should choose your
friends.
() Books give us eternal
" sarisfaction.
I'ne manager humiliated
Sanjay in the presence of his
colleagues.

(I) The manager dld not like
Sanjay.

(1) Sanjay was not popular with
his colleagues. .
Though his performance was
not good he was promoted.

Conclusions: (1) Performance and promotion

are nobt  necessarily
independent.
(II) Performance
promotion,

A systematic search for

intelligent life beyond the

solar system will be
undercaken shortly by some
advanced countuies.,

55. Statement:

Conclusions:

Conclusions:

57. Statement:

Conclusions:

58, Statement:

leads to

-

Statement:
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